Answer Key — Chapter 13 Practice

1.Vertex: (—4,-5), y-int: (0,11),

xnt: (~4-+/5,0), (-4++/5.0)

2.Vertex: (~10,5), y-int: (0,11),

x-int: (0,5—@), (0,5+JE)
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3. Center: (O, 0), r=4

4. Center: (8,-3), r=3
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6. Center: (0,0), a =35,
b=3

7. Center: (8,1), a=35,
b=2

8. Center: (-5,2), a=4,
b=3
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9. Hyperbola, Center: (0,0), a=3, b=35, Vertices (-3,0),(3,0), Asymptotes Slopes

ig through (0,0), Opens left/right




10. Hyperbola, Center: (-2,-3), a=9, b=2, Vertices (—2,-12),(-2,6), Asymptotes
Slopes i% through (—2,-3), Opens up/down

11. (x=10+(y=5) =16
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